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H¡$bmoarµO Am¡a OrAmB© ~moS>©

ImÚ-gm‘mJ«r H¡$bmoarµO 
(kcal) OrAmB©

1 {Jbmg ~mXm‘ XÿY 168 ‘Ü¶‘

2 gÎmy H$m namR>m Johÿ Ho$ AmQ>o go 
~Zm hwAm

290 8 (MZm); 45 (Johÿ§)

2 H$n doO X{b¶m 286 40 (X{b¶m)

‘Q>a Hw$bMm (1 H$n g’o$X 
‘gmbm ‘Q>a C~bm hþAm, 
2 Hw$bMo Ho$ gmW)

360 ‘Ü¶‘

1 {Jbmg Vwbgr {S>Q>m°Šg dm°Q>a
Hw$b H¡$bmoarµO: 1 kcal; OrAmB©: 0

AWdm
1 {Jbmg gÎmy qS´>H$

Hw$b H¡$bmoarµO: 240 kcal; OrAmB©: 8 (MZm)
AWdm

1 H$n bo‘Z J«rZ Q>r
Hw$b H¡$bmoarµO: 7 kcal; OrAmB©: 0

gw~h H$m ZmíVm
àmo‹hm°Ýg S>r eoH$

90ml nmZr ‘| 3 ñHy$n (113.5 kcal)
175ml nmZr ‘| 6 ñHy$n (227 kcal)

AWdm
1 {Jbmg ~mXm‘ XÿY

AWdm
2 gÎmy H$m namR>m Johÿ Ho$ AmQ>o go ~Zm hþAm

AWdm
2 H$n doO X{b¶m

AWdm
1 H$n ‘Q>a Hw$bMm (2 Hw$bMm Ho$ gmW)

Hw$b bJ^J H¡$bmoar: 291 kcal

gw~h CR>Vo g‘¶



H¡$bmoarµO Am¡a OrAmB© ~moS>©

ImÚ-gm‘mJ«r H¡$bmoarµO(kcal) OrAmB©

1/2 H$n Amby H$s gãµOr 86
82

2 nwar 212

2 H$n bm¡H$s H$s gãµOr 101
66

2 Johÿ§ H$s amoQ>r 200

1 H$n nmbH$ Xmb 100 29 (Vya Xmb)

1 H$n ~«mCZ amBg 111 50

1 H$n ‘gmbm VmoaB© 100 H$‘

1 H$n ^Q> H$s Xmb 158 ‘Ü¶‘

1/2 H$n ~«mCZ amBg 56 50

1/2 H$n nmbH$ gmJ 126 H$‘

‘Ü¶-gw~h
1/4 H$n ^wZr hþB© ‘y§J’$br (30 J«m‘)

Hw$b H¡$bmoarµO: 160 kcal; OrAmB©: 14
AWdm

2 hmB© ’$mB~a S>mBOopñQ>d {~pñH$Q>
Hw$b H¡$bmoarµO: 100 kcal; OrAmB©: H$‘

Xmonha H$m ^moOZ
1/2 H$n Amby H$s gãµOr Am¡a 2 nwar

AWdm
2 H$n bm¡H$s H$s gãµOr, 2 Johÿ§ H$s amoQ>r Ho$ gmW

AWdm
1 H$n ~«mCZ amBg Am¡a 1 H$n ‘gmbm VmoaB© Ho$ gmW 

1 H$n nmbH$ Xmb
AWdm

1 H$n ^Q> H$s Xmb, 1/2 H$n ~«mCZ amBg Am¡a 
1/2 H$n nmbH$ gmJ

AWdm
àmohm°Ýg S>r eoH$

90ml nmZr ‘| 3 ñHy$n (113.5 kcal)
175ml nmZr ‘| 6 ñHy$n (227 kcal)

Hw$b bJ^J H¡$bmoar: 250 kcal



H¡$bmoarµO Am¡a OrAmB© ~moS>©

ImÚ-gm‘mJ«r H¡$bmoarµO 
(kcal) OrAmB©

1 H$n X{b¶m ‘y§J Xmb pIM‹S>r 330 68 (Qy>Q>m hAm Johÿ±)

1 H$n Q>‘mQ>a ß¶mO H$m am¶Vm 50 36 (bmo-’¡$Q> Xhr)

1 H$n ‘m± H$s Xmb 139 ‘Ü¶‘

1 ‘ëQ>rJ«oZ amoQ>r 120 28

1 H$n H$H$‹S>r H$m gbmX 76 H$‘

Hw$b bJ^J H¡$bmoar: 314 kcal

ZmíVm
1 H$n A§Jya

Hw$b H¡$bmoarµO: 65 kcal; OrAmB©: 59
Am¡a

àmohm°Ýg S>r eoH$
90ml nmZr ‘| 3 ñHy$n (113.5 kcal)
180ml nmZr ‘| 6 ñHy$n (227 kcal)

amV H$m ImZm
1 H$n X{b¶m ‘y§J Xmb pIM‹S>r Am¡a

1 H$n Q>‘mQ>a ß¶mO H$m am¶Vm
AWdm

àmohm°Ýg S>r eoH$
90ml nmZr ‘| 3 ñHy$n (113.5 kcal)
180ml nmZr ‘| 6 ñHy$n (227 kcal)

AWdm
1 H$n ‘m± H$s Xmb, 1 ‘ëQ>rJ«oZ amoQ>r Am¡a 

1 H$n H$H$‹S>r H$m gbmX



H$‘ (<55)
‘Ü¶‘ (56-69)

CÀM
 (>70)

AnZr IwX H$s ßboQ> ~ZmE§
7 MaUm| ‘|

nmbH$ nZra

Oram amB©g

{MH$Z H$ar

Amby namR>m

{‘³g do{OQ>o~b

A‘¥Vgar Hw$bMm

N>mobo Jmo^r namR>m S>mb ’«$m¶

AmYm ßboQ> nmofH$ VËdm| go ^anya 
ñdmñÏ¶dY©H$ gpãO¶m| go ^a|.

à{V {XZ H$‘ go H$‘ 2-3 ~ma, 
EH$ H$n bmo -’¡$Q> dmbo XÿY ¶m Xhr 
H$m godZ H$a| 

AnZr ßboQ> H$m EH$ Mm¡WmB© ^mJ 
^a| àmoQ>rZ go, {Og‘| em{‘b h¢, 
brZ ‘rQ> (H$‘ M~u dmbm {hñgm), 
{MH$Z, ‘N>br Am¡a ’${b¶m§
go‘, ‘Q>a Am¡a gmo¶m~rZ.

AnZo ^moOZ ‘| M~u ¶wº$ nXm©Wm} H$m H$m‘ 
go H$m‘ godZ H$ao ~Q>a ¶m ‘ŠIZ H$s OJh 

ñdmñWdY©H$ emH$mhmar Vob O¡go H$s 
O¡VyZ Ho$ Vob H$m Cn¶moJ H$ao.

œoVgma ¶wº$ ImÚ nXmWm} H$mo gr{‘V H$a|
AnZr ßboQ> Ho$ EH$ Mm¡WmB© {hñgo ‘| Bg‘| Mmdb, 
‘¸$m, gyIo go‘ (~rÝg), Amby em{‘b h¢.

ha {XZ ’$bm| H$s H$‘ go H$‘ 
2-3 g{dªJ H$m godZ H$a|.

bJ^J 9,, H$s EH$ ßboQ> bo

AmH¥${V ‘| {XE JE AZwgma AnZr ßboQ> H$mo VrZ I§S>m| ‘| {d^m{OV H$a|

œoVgma‘wº$ Am¡a nmofH$ VËdm| go ^anya gpãµO¶m| Ho$ gmW g~go ~‹S>m 
I§S> ^ao|

A~ EH$ N>moQ>o I§S> ‘|, H$m~m}hmBS´o>Q> Am¡a ñQ>mM©¶wº$ ImÚ nXmW© S>mb|

Xÿgao N>moQ>o I§S> ‘|, AnZo àmoQ>rZ go ^ao ImÚ nXmWm] H$mo S>mb|

’$bm| ¶m XÿY Ho$ CËnmXm| H$m EH$ N>moQ>m {hñgm ßboQ> ‘| em{‘b H$a|

H$‘ ‘mÌm ‘| ñdñW ’¡$Q> MwZ| (ZQ²g, {Og‘| em{‘b h¢ AIamoQ> Am¡a 
~mXm‘, ~rO Am¡a EdmoH$mS>mo). ImZm nH$mZo Ho$ {bE, O¡VyZ Ho$ Vob H$s 
Vah ñdñW Vobm| H$m Cn¶moJ H$a|.

CÎma ^maVr¶ ImÚ nXmWm} H$m 
OrAmB© Ho$ AZwgma ‘yë¶m§H$Z


